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Everybody benefits from Yuanze products
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PR F1 5 NO/NC: 30A/25A 13.5VDC
BAVIHER 30A
ERYIHREE 30VDC
BRI R 420W
HEESH
filh s A REE
Ffi B BEL 100mQ Max.
IR & B i8] 10 msec. Max.
bl s 10 msec. Max.
g 100MQ Min.(DC500V)
S SMAE: AC500V, 50/60Hz 1min.
IR fit 554 B E: AC500V, 50/60Hz 1min.
RN fniE Eeg 10 ~55Hz
bRk finiE E30g 10 ~55Hz
WS 5,000,0003%
PR %E: 300,000 20A 13.5VDC
ww MIRIEEHL: 300,000 25A On ; 5A OFF L=1.0mH
HEED E#LEIE: 100,000 20A 135 VDC L=0.77mH
#T % (FFF): 100,000 SRIFHEF 100A FEERF10A
[AFEAT S22k (B FF): 1,000,000 3X21W
INEIRE —-40C ~ +125C(R4 )
EE MiFX: 416.09; B : £20.5¢9
LB S H (at 200)
FEHE FERT % B HR BARELE & B E BHBE HEE
(VDC) £10% (MA) | +10% (Q) SNANER (Max.) (Min.) =
6 266.67 22.5
9 180.00 50
12 133.33 90 PEBREN | IEHEN | BIEBEN #1.60W
18 89.11 202 150 % 58 % 10 % o
24 66.67 360
48 33.33 1,440
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